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® Use black ink or ball-point pen.

® Fill in the boxes at the top of this page with your name,
centre number and candidate number.

® There are two sections in this question paper. Answer ONE question from
Section A and ONE question from Section B on the topic for which you have
been prepared.

® Answer the questions in the spaces provided
— there may be more space than you need.

Information

® The total mark for this paper is 70.

® The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

® The quality of your written communication will be assessed in ALL your
responses
— you should take particular care with your spelling, punctuation and grammar,
as well as the clarity of expression.

Advice

® Read each question carefully before you start to answer it.
® Keep an eye on the time.
® Check your answers if you have time at the end.
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Sources for use with Section B. Answer ONE question in Section B on the topic for which you

have been prepared.

C1 -The United States, 1820-77: A Disunited Nation?

Sources for use with Question 5

SOURCE 1

(From Reid Mitchell, The American Civil War 1861-1865, published 2001)

1

5

SOURCE 2

(From Alan Farmer, The Origins of the American Civil War, 1846—61, 2nd edition, published 2002)

10

15

SOURCE 3

In 1861, seven states of the lower South - South Carolina, Georgia, Florida,
Alabama, Mississippi, Louisiana and Texas attempted to secede from the United
States because of Abraham Lincoln’s election to the American presidency. All seven
conventions that voted to take the South out of the Union proclaimed Lincoln’s
election a threat to slavery. Secessionists often disagreed as to how the Republican
Party, and the North at large, would destroy slavery and how long the process
would take. However, they agreed that this election was the beginning of the end
for slavery in the federal Union. All agreed that the election of Lincoln violated the
spirit of the Constitution and justified regarding that agreement as broken.

Lincoln’s victory in 1860 was to be the green light that secessionists had been
waiting for. This need not have been so. Rationally, there were excellent reasons
why the Southern states should not secede from the Union. Lincoln’s election
posed no immediate threat to the ‘peculiar institution’ [slavery]. He had promised
he would not interfere directly with slavery in those states where it existed. Even if
he had harboured secret ambitions to do away with slavery, there was little he could
actually do. Presidential power was strictly limited by the Constitution. Finally, and
perhaps most important of all, secession could well lead to Civil War, which might
do far more to threaten the institution of slavery than Lincoln’s election. However,
many Southerners did not think about things so calmly.

(From Derrick Murphy, Kathryn Cooper and Mark Waldron, United States 1776-1992, published 2001)

20

25

It is generally thought that Lincoln’s election led to Southern Secession but such an
assessment will not do. There were three phases to secession. First, South Carolina
seceded within weeks of Lincoln’s election. Second, six further slave states joined
South Carolina in early 1861. Third, this led to the formation of the Confederacy in
February 1861 and to the secession of four more states in May—June 1861. It was
only in April 1861, six months after Lincoln’s election, that the first shots of the Civil
War were fired. During that six-month period there had been serious attempts at
compromise, most significantly the Crittenden proposals, and much soul-searching
from men on both sides of the conflict. America had dealt with crises like this
before and most citizens assumed it would deal with it again.
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C1 -The United States, 1820-77: A Disunited Nation?
Sources for use with Question 6

SOURCE 4
(From Alan Farmer and Vivienne Sanders, An Introduction to American History 1860-1990, published
2002)

30 Does skilful Union military leadership explain the outcome of the CivilWar? Certainly,
Grant is often regarded as the greatest soldier of the war. He had a concept of the
total war strategy necessary to win the conflict, and the determination to carry
it out. Sherman also deserves praise for his contribution. His marches through
Georgia and the Carolinas weakened the South logistically and psychologically.

35 In comparison, the under-resourced Western Confederate armies did suffer from
poor generalship. The first Western commander, Albert Johnson, let Union forces
break through his river defence line and Beauregard made unrealistic military
plans. Bragg quarrelled with everyone, Johnston refused to take chances, and
Hood was held responsible for a series of Southern defeats in 1864. Yet, to the east,

40 Lee, the best Confederate general, pursued an offensive strategy, which on several
occasions almost won him the decisive victory over the North's forces.

SOURCE 5
(From Hugh Brogan, The Penguin History of the USA, 2nd edition, published 1999)

Jefferson Davis, the Southern President, had to struggle with the inadequacies of
the South’s political structure. All too frequently, Davis had to struggle bitterly
with state governors: at first over matters of principle such as conscription and,

45 in the end, over desperately needed military supplies. He was not helped by his
Vice-President, Alexander Stephens, who denounced him as weak and indecisive,
or by a Cabinet that consisted largely of mediocrities. He was not even able to
establish an effective distribution system for existing supplies. The western and
eastern Confederate forces were left to scramble against each other for men and

50 arms. Furthermore, Davis never saw, until it was far too late, the need for a supreme
military commander.

SOURCE 6
(From E. J. Hobsbawm, The Age of Capital 1848-1875, published 1975)

For four years civil war raged in the USA. The Northern states, though notably
inferior in terms of military performance, eventually won the conflict because they
enjoyed several important material advantages over the South: more manpower,
55 greater productive capacity and better technology. After all, the Northern states
contained over 70 per cent of the total population of the United States, over 80 per
cent of the men of military age, and over 90 per cent of its industrial production.
Their triumph was that of American capitalism and of the modern United States.

3
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Sources for use with Section B. Answer ONE question in Section B on the topic for which you

have been prepared.

C2 - The United States, 1917-54: Boom, Bust and Recovery

Sources for use with Question 7

SOURCE 7

(From Donald R. McCoy, Coming of Age: The United States during the 1920s and 1930s, published 1973)

1

10

SOURCE 8

The situation in 1929 was complicated by the international debts and reparations
left over from the First World War. There seemed few ways to pay off such
obligations, and no way to write them off without damaging the economies of
either debtor or creditor nations. The trend in most countries to raise tariffs, and
in many to impose import quotas, made trade more difficult. This also robbed
producers and workers of some of their potential profits, and contributed to
increased tensions. Consequently, many countries were in economic trouble
during the 1920s, including Australia, Brazil, Germany and lItaly. Great Britain
suffered during most of the 1920s from a high level of unemployment. All of this
contributed to American economic instability because the United States could not
expand its foreign markets as rapidly as its production. Between 1922 and 1929, US
exports rose by 38% but American manufacturing output increased by 50%.

(From Michael E. Parrish, Anxious Decades: America in Prosperity and Depression, 1920-1941, published

1992)

15

20

SOURCE 9

The collapse of the Wall Street Stock Market in October 1929 did not ‘cause’ the
terrible economic depression that followed. Most historians point to other, long-
term difficulties in the USA’'s economic system, especially the failure of purchasing
power to keep pace with rising productivity in the case of farmers and most
industrial workers. Many industries that employed large numbers of workers,
notably coal, textiles and railroads, had become less profitable. They were suffering
depression even before the panic on Wall Street. The Great Crash, however,
exposed weaknesses. The collapse of stock prices had serious consequences
because many commercial banks that had made loans to investors on the promise
of rising stock values were now left facing serious losses. Another factor was the
huge psychological blow of falling prices.

(From Ronald Allen Goldberg, America in the Twenties, published 2003)

25

30

Ultimately President Coolidge felt the best way to help all parts of the US economy
was to pursue pro-business policies which he believed would encourage economic
expansion. He stressed minimal interference with business, as well as no significant
interference to help farmers or workers. In the last two years of his Presidency,
Coolidge pursued policies aimed at continuing this expansion. However, Coolidge’s
laissez-faire approach ensured that he would not aggressively attack the major
economic problems of the 1920s. He failed to act on the problems that eventually
led to the Great Depression of 1929, trusting instead in the marketplace to provide
a solution.
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C2 - The United States, 1917-54: Boom, Bust and Recovery
Sources for use with Question 8

SOURCE 10
(From Derrick Murphy, Kathryn Cooper and Mark Waldron, United States 1776-1992, published 2001)

‘Doctor Win the War’, as Roosevelt termed it, did what ‘Doctor New Deal’ had failed
to do. It brought economic prosperity back to the USA. By the early 1940s, the

35 USA was enjoying full employment as the country developed a war economy.
However, ever since the outbreak of European war in September 1939, the USA had
benefited from the demand for armaments by Britain and France. Even after France
was defeated, the USA remained the ‘arsenal of democracy’ by providing weapons
through the Lend-Lease programme of early 1941. All this extra spending had a

40 major impact on economic growth. In 1938, US gross national product stood at
$85.2 billion. This had risen to $100 billion by 1940.

SOURCE 11
(From Anthony J. Badger, The New Deal: The Depression Years, 1933-1940, published 1989)

Seen through the lens of the Second World War, the New Deal’s overall function
appears as a holding operation for American society: a series of measures that
enabled the people to survive the Depression and to hold on until World War

45 1l opened up new opportunities. Industrial recovery programmes checked the
downward spiral and produced a modest recovery that enabled businessmen to
survive to enjoy dramatic war-time profits. Relief and welfare measures allowed
the unemployed to struggle through until the war brought them jobs. Farm
programmes enabled an underemployed labour force to stay on the land until

50 the war created the urban demand which would absorb surplus farm production,
and the industrial jobs which would absorb the surplus population. The plight of
the poorest one-third of the nation largely remained the New Deal’s unfinished
business.

SOURCE 12
(From Ronald Edsforth, The New Deal: America’s Response to the Great Depression, published 2000)

During the spring of 1933, in just a few months of tremendously creative political

55 activity, President Franklin Roosevelt and the newly elected Congress reversed
the long downward economic spiral that had culminated in the collapse of the
nation’s banking system. For this reason alone, the New Deal was experienced as
a salvation by most Americans. It also established greater economic protection
for all Americans in 1935. But the New Deal did much more. By 1941, the first

60 two Roosevelt administrations had built up a set of government bodies and
programmes designed to provide security to all citizens regardless of their position
in society, no matter what their age, sex or race.
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6HI03/C - The United States: Challenged and Transformed
SECTION A
Answer ONE question in Section A on the topic for which you have been prepared.

You should start the answer to your chosen question in Section A on page 3.
Section B begins on page 11.

C1 - The United States, 1820-77: A Disunited Nation?
Answer EITHER Question 1 OR Question 2.

EITHER

1 ‘For the Southern states in the years up to 1860, the economic benefits of slavery
outweighed the economic disadvantages! How far do you agree with this view?

(Total for Question 1 = 30 marks)
OR

2 How far do you agree with the view that the civil rights measures introduced during
the Reconstruction period (1865-77) significantly improved the position of African-
Americans?

(Total for Question 2 = 30 marks)
C2 - The United States, 1917-54: Boom, Bust and Recovery
Answer EITHER Question 3 OR Question 4.

EITHER

3 To what extent was the First World War the key factor in the US decision to restrict
immigration in the years 1917-29?7
(Total for Question 3 = 30 marks)
OR

4 How far do you agree with the view that McCarthyism had little impact on US society
in the years 1950-54?

(Total for Question 4 = 30 marks)

TOTAL FOR SECTION A =30 MARKS
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SECTION A

Put a cross in the box indicating the first question you have chosen to answer [X.
If you change your mind, put a line through the box $¢ and then put a cross in another box [X.

Chosen Question Number:

Question 1 [] Question 2 []

Question 3 [] Question 4 []
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SECTION B
Answer ONE question in Section B on the topic for which you have been prepared.
You should start the answer to your chosen question in Section B on page 13.
C1 -The United States, 1820-77: A Disunited Nation?

Study the relevant sources in the Sources Insert.
Answer EITHER Question 5 OR Question 6.

EITHER
5 Use Sources 1, 2 and 3 and your own knowledge.

‘Abraham Lincoln’s election as President of the USA in 1860 made Southern Secession
inevitable! How far do you agree with this opinion?

Explain your answer, using Sources 1, 2 and 3 and your own knowledge of the issues
related to this controversy.

(Total for Question 5 = 40 marks)

OR
6 Use Sources 4, 5 and 6 and your own knowledge.

How far do you agree that superior military leadership was the main factor explaining
the North'’s victory in the Civil War?

Explain your answer, using Sources 4, 5 and 6 and your own knowledge of the issues
related to this controversy.

(Total for Question 6 = 40 marks)

1
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C2 - The United States, 1917-54: Boom, Bust and Recovery

Study the relevant sources in the Sources Insert.
Answer EITHER Question 7 OR Question 8.

EITHER
7 Use Sources 7, 8 and 9 and your own knowledge.

‘The USA was hit by the Great Depression in 1929 because of increasing restrictions
on international trade! How far do you agree with this opinion?

Explain your answer, using Sources 7, 8 and 9 and your own knowledge of the issues
related to this controversy.

(Total for Question 7 = 40 marks)

OR
8 Use Sources 10, 11 and 12 and your own knowledge.

How far do you agree with the view that the USA’s economic recovery in the period
January 1933 to December 1941 owed more to the development of a war economy
than to the impact of the New Deal?

Explain your answer, using Sources 10, 11 and 12 and your own knowledge of the
issues related to this controversy.

(Total for Question 8 = 40 marks)

TOTAL FOR SECTION B = 40 MARKS
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SECTION B

Put a cross in the box indicating the second question you have chosen to answer [X.
If you change your mind, put a line through the box $¢ and then put a cross in another box [X.

Chosen Question Number:

Question 5 [] Question 6 []

Question 7 [] Question 8 []
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TOTAL FOR SECTION B = 40 MARKS

TOTAL FOR PAPER =70 MARKS
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